
INSTRUCTION MANUAL

Neomounts B.V.
Wateringweg 62, 2031 EJ Haarlem
The Netherlands | neomounts.com
 

NM-M1000WHITE

 

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Floor stand

Vloersteun

Bodenständer

Support au sol

Supporto da pavimento

Soporte de suelo

Suporte de parede para TV

Gulvstander

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Gulv stativ

Golvstativ

Lattiateline

Stojak podłogowy

Podlahový stojan

Podlahový stojan

Stativ pentru podea

700mm

200/300/400/500/600mm

800mm

Ø35mm

500mm

m
in

20
0~

m
ax

40
0m

m

10
50

m
m 13

80
m

m



PARTS

NM-M1000WHITE
200x200 - 

600x400 mm
0-40 kg

STEP 1

Install the horizontal bar and secure it
Installeer de horizontale stang en zet hem vast
Installieren Sie die horizontale Stange und sichern 
Sie sie
Installez la barre horizontale et fixez-la
Installare la barra orizzontale e fissarla
Instale la barra horizontal y fíjela
Instale a barra horizontal e fixe-a
Zamontować i zabezpieczyć drążek poziomy

EN
NL
DE

FR
IT
ES
PT
PL

A. (x1) B. (x2) C. (x4) D. (x1)

E. (x1) G. (x6) H. 4mm
(x1)

F. ST4.2x12
(x6)

Tool PencilTool Pencil Drill Tape measu

M-F. (x4) M-G. (x4) P-A. (x1) P-B. (x2) P-C. (x2) P-D. 2mm
(x1)

P-E. ST4.8x38
(x4)

P-F. Ø7x35
(x4)

P-G. D5
(x2)

M-E. D8
(x4)

M-B. M8x16
(x4)

M-C. M6x30
(x4)

M-A. M6x14
(x4)

M-D. M8x35
(x4)

A

C



STEP 2

STEP 3

Attach the poles to the base frame
Bevestig de palen aan het basisframe
Befestigen Sie die Stangen am Grundgestell
Fixez les poteaux au cadre de base
Fissare i supporti al telaio di base
Fije los postes verticales al bastidor base
Fixar os postes verticais à estrutura de base
Przymocuj słupki pionowe do ramy podstawy

EN
NL
DE
FR
IT
ES
PT
PL

Set the desired height and secure it using the
height-locking collar
Stel de gewenste hoogte in en zet vast met de 
hoogtevergrendelingsring
Stellen Sie die gewünschte Höhe ein und sichern
Sie diese mit dem Höhenverriegelungsring
Réglez la hauteur souhaitée et fixez-la à l'aide de
la bague de verrouillage de la hauteur
Impostare l'altezza desiderata e fissarla con l'anello
di bloccaggio dell'altezza
Ajuste la altura deseada y fíjela con el anillo de
bloqueo de altura
Ajustar a altura desejada e fixá-la com o anel de
fixação em altura
Ustaw żądaną wysokość i zabezpiecz ją za pomocą
pierścienia blokującego wysokość

EN

NL

DE

FR

IT

ES

PT

PL

ape measure

B

H

R
ec

om
m

en
de

d 
50

-1
50

m
m

Note:
- Please secure the height-locking 
  collar first, before attaching the 
  screen to the bracket.
- Make sure the screw holes face 
  the back. 



STEP 4

STEP 5

 Remove the screws from the adapter brackets
Verwijder de schroeven uit de adapter steunen
Entfernen Sie die Schrauben von den Halterungsschienen
Retirez les vis des supports adaptateurs
Rimuovere le viti dalle staffe del adattatore
Quite los tornillos de los soportes del adaptador
Remova os parafusos dos suportes do adaptador
Wykręć śruby z ramion uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

Install the brackets to the screen and use spacers if
necessary
Installeer de beugels op het scherm en gebruik zo nodig
afstandhouders
Befestigen Sie die Halterungen an dem Bildschirm und
verwenden Sie Distanzscheiben, wenn nötig
Installez les supports sur l'écran et utilisez des entretoises
si nécessaire
Installare le staffe sullo schermo e utilizzare i distanziatori,
se necessario
Instale los soportes en la pantalla y utilice separadores si
es necesario
Instale os suportes no ecrã e utilize espaçadores, se
necessário
Zamontuj wsporniki do ekranu i w razie potrzeby użyj
elementów dystansowych

EN

NL

DE

FR

IT

ES

PT

PL

* Not Included

* Not Included

E1

E2

E

D

E2

M-A M-B

P-B M-E M-E

M-A M-B

M-E

M-F

M-G

M-C M-D
P-B

M-C M-D

M-E

M-G

M-F



E1

STEP 6

STEP 7

Attach the screen to the bracket, secure it and make sure 
the horizontal bar is hidden behind the screen
Bevestig het scherm op de beugel, zet vast en verzeker 
je ervan dat de horizontale stang verborgen is achter het 
scherm
Befestigen Sie den Bildschirm an der Halterung, sichern 
Sie ihn und achten Sie darauf, dass die horizontale Stange 
hinter dem Bildschirm verborgen ist
Fixez l'écran au support, sécurisez-le et assurez-vous 
que la barre horizontale est cachée derrière l'écran
Fissare lo schermo alla staffa, fissarlo e assicurarsi che la 
barra orizzontale sia nascosta dietro lo schermo
Coloque la pantalla en el soporte, fíjela y asegúrese de 
que la barra horizontal quede oculta detrás de la pantalla
Fixar o ecrã no suporte, fixá-lo e certificar-se de que a 
barra horizontal fica escondida atrás do ecrã
Przymocuj ekran do uchwytu, zabezpiecz go i upewnij 
się, że poziomy pasek jest schowany za ekranem

EN

NL

DE

FR

IT

ES

PT

PL

Place the cable clips and route the cables
Plaats de kabelclips en geleid de kabels
Befestigen Sie die Kabelclips und verlegen Sie die Kabel
Placez les clips de câbles et acheminez les câbles
Posizionare i fermacavi e posare i cavi
Coloque las clips para cables y guíe los cables
Colocar os clipes para cabos e passar os cabos
Umieść zaciski kablowe i poprowadź kable

EN
NL
DE
FR
IT
ES
PT
PL

G F

Note:
After installation the 
horizontal bar should 
be hidden behind the 
screen.



For additional support and security - Install the safety 
cables on a stud wall
Voor extra ondersteuning en veiligheid - Bevestig de 
veiligheidskabels aan een houten balk
Für zusätzliche Unterstützung und Sicherheit - Installieren 
Sie die Sicherheitskabel an einem Holzbalken
Pour plus de soutien et de sécurité - Installez les câbles 
de sécurité sur un mur en bois
Per un ulteriore supporto e sicurezza - Installare i cavi di 
sicurezza su un perno in legno
Para mayor apoyo y seguridad - Instale los cables de 
seguridad en una viga de madera
Para apoio e segurança adicionais - Instale os cabos de 
segurança numa parede de vigas
Dodatkowe wsparcie i bezpieczeństwo - Zamontuj liny 
zabezpieczające na ścianie szkieletowej

EN

NL

DE

FR

IT

ES

PT

PL

AOPTION

40mm

ø 3.5mm
(ø 1/8")

(1.6")

P-C

P-E

P-A

P-A

P-D

P-B

400-650mm

11
00

-1
35

0m
m



For additional support and security - Install the safety 
cables on a solid brick or concrete wall
Voor extra ondersteuning en veiligheid - Bevestig de 
veiligheidskabels aan een stevige stenen of betonnen muur
Für zusätzliche Unterstützung und Sicherheit - Installieren 
Sie die Sicherheitskabel an einer soliden Ziegel- oder 
Betonwand
Pour plus de soutien et de sécurité - Installez les câbles 
de sécurité sur un mur de brique ou de béton
Per un ulteriore supporto e sicurezza - Installare i cavi di 
sicurezza su un muro di mattoni o cemento
Para mayor apoyo y seguridad - Instale los cables de 
seguridad en una piedra sólida o muro de hormigón
Para apoio e segurança adicionais - Instale os cabos de 
segurança numa parede sólida de tijolo ou betão
Dodatkowe wsparcie i bezpieczeństwo - Zamontuj liny 
zabezpieczające na ścianie z litej cegły lub betonu

EN

NL

DE

FR

IT

ES

PT

PL

BOPTION

ø 7mm
(ø 9/32")

40mm
(1.6")

P-C

P-F

P-E

P-A

P-A

P-D

P-B

400-650mm

11
00

-1
35

0m
m



25.03


